ER-IERRREE-RR

SHTEs 2B RE
HEXEE LEEMSSEL

HEFHR R
RgH —RAHEHE FEER
HETHEEF O |FR= AmE
X7 (BKE) REMEEHEE |25
(EWKE) |TIERSIEHEE 162
g s 3 Pt — it —
L e EE}”;{E;%% PEEIIRE=75, KE/IFRE=13.3, £AJIFE=102,
oK - FESE)II =8, 10.8), FAREEFJIIFRIZ=(8, 6.9)
=5 EETNSATR e mim- 5k -k58)
A SE 4 EE 20m/s
ZRE T RE 20m/s FBEES
XE [EE DRSS 12051 F% E D ES10cm
KR e
=i B *2
X7 REMEEHEE |10
TIERMEEHERE |102
g — g — 3 Pt — 32—
;ﬁiﬁiﬁﬁ%?ﬁ%&%z’é EE}”%E;?S, EE%“II)ILE‘Z—& ﬁ:ﬁ'“luuﬁ 10.6, EEJ”INLQ 8.1y
: e BEFE)ig=(5, 9.6), BERIIIRE=(5, 4.9), IRE)IFE=(5, 106),
K maE" EMIIF=(7, 43) 15)11 (8, 4.9)
fﬁfg‘gg*ﬁﬁ SRR
58 &, Ty RLE 13m/s
RE T RE 13m/s EFHES
AR RE EEDRS 1251 E D ES5em
R D
=i L
E3 ESEFICLYBENTEINDEE
mME
B iz [100m
7] B/INEE30% T, EREE60%
TN
KR 28 RIEXE-4CLUT
B BRFEHAICRIESUR3CLULT
EK-ES ZLLVEKEE)NFEINDEGEE

EEEREARER

i

[100mm

"NREREEY AEFEREY OMAShEICLIREBEERLTVET,
2 BHIEAESHDREKMBIFREANTDIZE T EEHEHNERKELCINNDREOTERREEELT. ChICISTERERERRTIHEPHYFETS.



